(7A#%3]

(KRB HE R

8/1|8/2|8/3|8/4(8/5|8/6|8/7|8/8(8/9|8/10(8/11|8/12|8/13|8/14(8/15(8/16|8/17|8/18|8/19(8/20|8/21)|8/22|8/23|8/24(8/25|8/26|8/27|8/28(8/29(8/30|8/31
WETA | FRFR | AEHBS
A|£|x|B[A|X|KR[KR|&|L|B[A|X|K|KR|E|[L£|(B|B|[X|K|K[&£|X|B|A|X|K[X|£|L
BAM |mzg—nes |Pa-1000 — I =1=1=]=loos| =|=|=1=|=1=|=|=|=|=-[={={-|=-|-|=-1=-1=1=|-|-|-|-|-|- 006 006 006
BRB A |PA-1000 ===t =|=|=|==1=—-=1—-{—-1=1=—-1=-1—-1—-=1==1—-—-—-1-|—-|- 0.04 0.04 0.04
HUR/NER  |PA-1000 ===l =]=|===1=—-|=-1—-{—-1=1=—-1—-1—-1—-1—-1==1—-—-1-1-|-|- 0.09 0.09 0.09
IBF)I/NEE: |PA-1000 ===l =]=|===1=—-|=-1—-{-1=1=—-1-1—-1-1—-1==1—--1-1-|-|- 0.09 0.09 0.09
KENEE  |PA-1000 ===l =|—=|=|==1=—-=-1—-{-1=1=—-1-1—-1—-—-1=l=1—--1-1-|-|- 0.08 0.08 0.08
RIER/INERR |PA-1000 - =f{=f{=-{—-foor|{=({=]=1=1=1=-1=-1=-=-==—-|-—-—-—-==-—-—-—-—-- 0.07 0.07 0.07
BIINEE  |PA-1000 - =f{=f{=-{—-foor|{=({=]=1=1=1=-1=-1=-=-==—-|-—-—-—-==-—-—-—-—-- 0.07 0.07 0.07
faRE/NER  |PA-1000 = B e e e L el el el e el el el el el el el e el el el el el e e e e e e e 0.08 0.08 0.08
ERENFRAESH |PA-1000 i el e e e e il e e e e et e e el el et et el et el el el e et e e et e e 0.00 0.00 #DIV/0!
RBMFER |PA-1000 i B e e el B L el el el el el el el el el el e el el el el el e e e e e e e 0.06 0.06 0.06
INRINHDEER |PA-1000 = e e e e e L el el e el el el el el el el e el el el el el e e e e e e el 0.07 0.07 0.07
BARPFHE  |PA-1000 i Bl e e e L el el el et el el el el el el el e el el el el el e e e e e e el 0.06 0.06 0.06
[BRI4  |PA-1000 = B e e e LS e el el e el el el el el el el e el el el el el e e e e e e el 0.09 0.09 0.09
I[BE IR 4 |PA-1000 i e e e e e L el el e el el el el el el el e el el el el el e e e e e e el 0.07 0.07 0.07
fafEhF  |PA-1000 = B e e e L el el el e el el el el el el el e el el el el el e e e e e e e 0.08 0.08 0.08
R PA-1000 i B e e e e L el el e el el el el el el el e el el el el el e e e e e e e 0.08 0.08 0.08
FE—4H#E  |PA-1000 = B e e e L el el el el el el el el el el el e el el el el el e e e e e e el 0.08 0.08 0.08
E_4HHE  |PA-1000 = Bl e e e L el el el e el el el el el el el e el el el el el e e e e e e e 0.08 0.08 0.08
UAYEHE |PA-1000 — === —feos|=f=1=1=|—=[=1—-({—-1—-—-1=1=|—-1—-{—-1—=-1—-1=|=-|—-|—-|—-|-|—-|- 0.06 0.06 0.06
[£50 € REE |PA-1000 — === Jeos|=]=1==[=1—-{—-1-—-1=1=-|—-1—-{—-1—-1—-1=|-|—-|—-|—-|-|—-|- 0.06 0.06 0.06
HTUVDFHF  |PA-1000 i B e e B L el el el et el el el el el el el e el el el el el e e e e e e el 0.05 0.05 0.05
mRER PA-1000 = B e e e LU e el el e el el el el el el el e el e el el el e e e e e e el 0.07 0.07 0.07
EREER PA-1000 = B e e e LU e el el e el el el el el el el e el e e el el e e e e e e e 0.10 0.10 0.10
HARER  |PA-1000 i Bl R B (X Bl e el N N N B B Bl Bl N B B Bl Bl Bl el el B Bl B B e e 0.08 0.08 0.08
AERREE |PA-1000 i Bl Bl el el Rl X Bl Rl Bl Nl Nl Bl Bl Bl Bl el Il Bl Bl Il Bl Bl Bl Bl Bl Bl B Bl Bl e 0.07 0.07 0.07
BIIREE |PA-1000 i Bl Rl B Bl (X B Il N N N B B Bl Bl N B B Bl Bl Bl el el B el B B e e e 0.08 0.08 0.08
RAREE |PA-1000 i Bl Rl B Bl (X B Il N N N B B Bl Bl N B B Bl Bl Bl el el B el B B e e e 0.08 0.08 0.08
F—REE  |PA-1000 i Bl Rl B (X Bl e Il N N N B B Bl Bl N B B Bl Bl Bl el el B Bl B B e e 0.08 0.08 0.08
F_REE  |PA-1000 i Bl R B ATV B e el B N B B B Bl Nl N B Bl Bl Bl Bl Rl el B Bl B B e e 0.10 0.10 0.10
x 3 8/1|8/2|8/3|8/4|8/5|8/6|8/7(8/8[8/9|8/10|8/11(8/12[8/13(8/14|8/15|8/16|8/17|8/18|8/19|8/20|8/21|8/22|8/23|8/24|8/25|8/26(8/27|8/28| 8/29| 8/30| 8/31
THH | TREE | AEREL A |l&[£|B|A[X|K|K|E|[£|B|A|X|K|K|&|L[B|A|X[K|KXK|&|E|B|A|X|K[|K|&|£
BED | mEAgR [P0 7 007




BIIALOKA U F

waEMER D50 0.06
HENPREOHEEET) EELQ';[;KA SUF 0.06
BENER DA 007
BRIER | oor
Bt SRR T 006
L9/ AR Ei‘:';g“ w7 0.06
FAR N |FIALOKA ST 0.07
ElELE A by EQ';ELKA ooF 007
Eigrhepgg [FEL0A T 008
dmEpg PO T 0.06
ERRGFE [T T 008
AEREF [T T 0.07
= HIIALOKA I
hBRER D07 0.8
= . 5 |BIZALOKA S UF
AERELA b;}ay f‘ 0.06
HwaREg [PI0T 0.06
B el 007
RRRE L 5| I IO T 008
MREES— EEL;';CLKA ToF 0.07
MR g —| I I T 007
(B BN | T ZEL0KA 7 0.10
Lt 006
e wnax | BSTALOKA S F
anliibar = [ 0.07
LhELEEE|FILON T 0.0
© = | A3IALOKA >V F
AUy osE| ST 0.06
BIZALOKA LU F
ARGHE [J200 77 0.06
=% = HIIALOKA U F
SRR |20 0.07
— . . 8/1(8/2|8/3|8/4|8/5|8/6|8/7|8/8|8/9|8/10|8/11|8/12|8/13|8/14|8/15|8/16|8/17(8/18|8/19(8/20|8/21(8/22)|8/23|8/24)|8/25(8/26|8/27|8/28|8/29|8/30| 8/31
4
XK |£|[x|B|BA[X|XRK|K|£|L£|B|A|XR|K[X|£|L|B|A|K|XK|[K|£|X|[B|A|X|K|[K|£|x
KA RET | KAIR/INERR |PA-1000 004
£ #INER |PA-1000 0.08
KARRE/NF|TCS-172B 0.07
KiAlR 224 [PA-1000 0.06
£ #ERFER |PA-1000 0.07
BEER  |PA-1000 0.06
LB/ RELE |PA-1000 0.08
&r#ENN v RERE|PA-1000 0.05
ﬁ—i‘éd)?—ﬁ:ﬁlPA—lOOO 0.12
ﬁ:i‘(zd)?—ﬁ:ﬁlPA—lOOO 0.06
xawmwaxmlpA—]OOO 0.06

(7A#%3]



BEET T ELORETED

PA-1000

0.03

R

FREA

BIEHER A

8/2

8/3

8/4

8/5

8/6

8/1

8/8

8/9

8/10

8/11

8/12

8/13

8/14

8/15

8/16

8/17

8/18

8/19

8/20

8/21

8/22

8/23

8/24

8/25

8/26

8/27

8/28

8/29

8/30

8/31

k

K

A

k

K

PN

&

*

B

A

k

K

PN

&

*

B

A

k

K

PN

&

1 EET

FE/NERE

A2700

0.04

FEE R

A2700

0.04

HEE—FER

A2700

0.03

FEE PR

A2700

0.04

HELHHE

A2700

0.03

BDHHE

A2700

0.04

HEBRER

TCS-172B

0.05

HEREEE

TCS-172B

0.06

GiIE

FHRESR

BIEHR R

8/1

8/2

8/3

8/4

8/5

8/6

8/1

8/8

8/9

8/10

8/11

8/12

8/13

8/14

8/15

8/16

8/17

8/18

8/19

8/20

8/21

8/22

8/23

8/24

8/25

8/26

8/21

8/28

8/29

8/30

8/31

*

K

A

k

K

PN

&

+

B

A

k

K

PN

&

*

B

A

K

K

PN

&

S HET

FRRE /N

415 2 S SRR PA1000

0.04

HARINEE

415 2 S R PA 1000

0.06

LEE/NERL

415 2 S R PA1000

0.05

B/

15 2 S SRR PA1000

0.05

BRI

415 2 S R PA1000

0.05

SR ARRE /NP

0.05

FRFE A%

915 2 4R APA 1000

0.07

AR

15 2 AR APA 1000

0.04

fiRsE AR

915 2 4R APA 1000

0.05

F—HHE

915 2 AR APA 1000

0.06

HDHHE

915 2 4R R APA 1000

0.04

=AEESHE

15 2 AR APA 1000

0.05

0.07

REREHHE

915 2 R R ARPA 1000

0.05

el RE AT

915 2 R REARPA 1000

0.07

WARRE R

915 2 R REARPA 1000

0.05

B ERE R

915 2 R REARPA 1000

0.06

TOHFE

915 2 R REARPA 1000

0.04

=RERERE

915 2 R REARPA 1000

0.06

B RER

915 2 4R RE APA 1000

0.05

MEcEL ey a—

915 2 B 4R RE APA 1000

0.05

(7A#%3]



8/1|8/2|8/3(8/4|8/5|8/6|8/7|8/8(8/9|8/10|8/11|8/12(8/13(8/14|8/15|8/16|8/17|8/18(8/19(8/20|8/21]|8/22|8/23(8/24(8/25|8/26|8/27|8/28|8/29(8/30(8/31
WETH | FRER | AEHRE
A ||| B|A|X|[XK|KX|£|L|B|A|XR|K|[KX|[£|L|B|A|XR|K|[K|[£|L|B|A|XR|K|[K|[£|X
NEET | JIBRNEEASS  [onmmatesion-toon 0.04 0.04 0.04
JIEEE Z/NTEAR | omosesmanteripa-tooo 0.05 0.04 0.05 0.05
HIZNEERR  |awsmmasesrieaiooo 0.05 0.05 0.05
BRI/ |eomsuimiea-io0 0.03 0.03
JIERE2AR  Jenmsatemeatooo 0.05 0.05 0.06
SRR [mmaemeaioon 0.04 003 0.04
OO
AASHHE
OCOREE
OOBREM
8/1(8/2|8/3|8/4(8/5|8/6|8/7|8/8|8/9(8/10|8/11|8/12(8/13|8/14|8/15(8/16|8/17|8/18(8/19|8/20|8/21|8/22|8/23|8/24|8/25|8/26(8/27|8/28|8/29(8/30|8/31
mETH [ ERER BIEHIRR
x |&|t|B|a|x|x|x|e|x|a|Aa|x|x|x|2|x|8|A|x|x|x|2|x|B|A|x|x|x|2]|x
BERT | KEBEBR [Aroka cTs-1728 o7
TIRERT  |AROKA CTs-1728 0.06
F=AIFIFIE B E|AROKA cTS-1728 0.06
JAERIRBE |ArRoKA CcTS-172B 0.08
SEN HSHFEE |ArokA cTs-1728 0.05
KEFINHERE |arokA cTs-172B 0.06
EINHEE  |AROKA cTs-172B 0.07
SN H R EEE |AROKA CTs-1728 0.06
FRIREEE |aroka cTs-1728 0.06
HHEIEEAE JAROKA CTs-1728 0.07
JKEFIREHE JAROKA CTs-1728 0.06
TIREAE  |AROKA CTs-1728 0.07
SENM AN |AROKA CTs-1728 0.06
JRINGERR  |ARokA CTs-1728 0.05
FHE/NFERR JAROKA CTs-1728 0.07
FKEFINERE |AROKA CTS-172B 0.06
TINFERR  JAROKA CTs-1728 0.07
SN A F 28 |ARoKA CTs-1728 0.05
FHEPERR JAROKA CTs-1728 0.05
B |aroka cTs-1728 0.06

(7A#%3]



